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4402

M.A. (Previous) Examination, 2015

HISTORY
Paper-I1
(Twentieth Century World)

Time : Three Hours
Maximum Marks : 100

PART-A (@ve-3) [Marks : 20
Answer all questions (50 words each).
All questions carry equal marks.
wht T FQ P ¥ YO T wOIW S0 T
§ of® 7 A T WA F F TH T

PART-B (@vs-9) [Marks : 50
Answer five questions (250 words each). Selecting
one question from each unit. All questions carry equal marks.
T THE ¥ TH-UF WA T g, FA W
wﬁmumwmwzsomaﬁmaﬁl
it oA B ofm TR T
PART-C (@"8-9) [Marks : 30
Answer any two questions (300 words each).
All questions carry equal marks.
FH I YT FW TEF YA H IW 300 IR
F s 7 A W WA F SF T E
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PART-A
(@veg-3v)

UNIT-I

(g=-1)

1. (i) Define Socialism.

garsETe. R i

(i) What was Zollverein ?

TAAA T e ?
UNIT-II
(FFTE-11)

(ili) "Welt Politik & Kaiser William-II was the cause of
First World War." Comment.

TG gum fava g3 %1 FROr o1 smen #ifg

(iv) Russian Revolution of 1917 started from which city ?

1917 ®1 FH Ff fFm e ¥ U g o
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UNIT-III

(TTE-111 )

(v) Describe the composition of International Court of

Justice.

SRS =Ted & TS89 H U BT

(vi) Give any two causes for the rise of Nazi Party.

A T F I F OHIE & FWOT IIREU

UNIT-1V

(TFE-1V )

(vii) What was the immediate cause of Second World
War ?

fea fova g5 =1 aopfos ®Rm =7 ar

(viit) Throw light on the significance of historic long march
of Mao Tse-Tung.

e W-gN F UREE TE ofqeR % mEe W
TFT9 Elferu)
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UNIT-V
(3FE-V )

(ix) Give the name of any two originator leaders of the
Non-Aligned movement.

frl @ EPROE oTRieM % W@ waaw % M
Frfer

(x) Why NATO was formed?
T2 w1 fo = fE T en?

PART-B
(@us-4)

UNIT-I

(TwE-1)

Discuss the achievements of Second International.

i T=oea w1 Syt ®i faas sl

Examine the role of Garibaldi in the Unification of Italy.

Tl % T ¥ aeel % AnEE & T St

UNIT-II

(-1 )

Write critical notes on the treaty of Trianon and the treaty

Neuilly.
fram oir froet =1 | W e femforat fatew
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‘Examine the causes of Russian Revolution of 1917.

1917 3 G T FA D FROT F WG HHfE

UNIT-III

(F@E-111)

. Critically examine the attempts made to solve the problem

of disarmament under the League of Nations.

T G ® oA RS B WEen ® OgEeE ¥
79 T YEE w1 ST e i

Discuss the circumstances leading to the rise of Fascism in

Italy.
oo A Wl # 399 B % FRn W faeEa wife

UNIT-1V .

(FFE-IV )

Discuss the role of U.N.O. in solving Kashmir problem.

FYER THEN ® THNE W UIF TR qF K g w©
o= sifST)

"The consequences of Second World War were extensive
and for reaching”. Comment.

‘i fava g3 ® 95 E SR R wfome g
RAT hifed|
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10.

11.

12.

13,

UNIT-V

(3FE-V)

"Cold war was the result of differences of ideologies
between the two superpowers". Discuss.

‘TR Ig [ TeNIEE ® e fEmumet s w
o em’! fag= i

Discuss the economic impacts of globalization.

IAET F ofiE wwEr 1 faE=m s

PART-C
(@us-w)

UNIT-I

(3ohTE-1)
Estimate the role of Bismark in the unitication of Germany.
THA % T | fomme #7 9f w ® gedie s
UNIT-1I

(geTg-11 )

Examine the causes of First World War.

N fava g3 % wROn @ wder Hifsu
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UNIT-III

(FFE-111 )

14. Discuss the main aims of the League of Nations. How far it
had been successful in solving the political problems ?

T W9 % ygE R # fEem w1 g ot
Tet ® M § wE 9% 9% @

UNIT-1V

(3FE-1V )

1S. "British policy of appeasement was responsible for the
Second World War." Comment.

e g w5 A R v g @ fore S
A" IR FUT HI A HITY

UNIT-V

(33T-V )

16. Write the brief note on the emergence of the Third World
and role of India in Non-aligned Movement.

Ji fave % ww @ R FRiw oT=ed A 9w #@
qIfFe W uF Ffae feooh fafau
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